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6 A is the point with coordinates (4, 1)
 B is the point with coordinates (1, 9)

 Find the coordinates of the midpoint of AB.

(. . . . . . . . . . . . . . . . . . . . . . . , . . . . . . . . . . . . . . . . . . . . . . . .)

(Total for Question 6 is 2 marks)
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 Describe fully the single transformation that maps shape A onto shape B.
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(Total for Question 7 is 2 marks)
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1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 3HR Q7:  2 Marks
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2. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2007, 4H Q4:  2 Marks
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Answer ALL TWENTY THREE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 There are 20 students in a class.
 12 of the students are girls.

 Find the ratio of the number of girls to the number of boys.
 Give your ratio in the form n : 1

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . : 1

(Total for Question 1 is 2 marks)

2

 Describe fully the single transformation which maps triangle P onto triangle Q.
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(Total for Question 2 is 2 marks)

Do NOT write in this space.
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3. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4HR Q2:  2 Marks
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4. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2008, 3H Q4:  5 Marks
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3.

 Describe fully the single transformation that maps triangle S onto triangle T.

  ..............................................................................................................................................

4. (a) Work out the value of yy 42  when 3y

...........................
 (2)

 (b) Simplify

   (i) 53 pp

...........................

  (ii) qq7

...........................
 (2)

Q3

(Total 2 marks)

Q4

(Total 4 marks)
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5. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2006, 3H Q3:  2 Marks

Leave 
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6.

 (a) Describe fully the single transformation which maps triangle P onto triangle Q.

   .......................................................................................................................................
(2)

 (b) Describe fully the single transformation which maps triangle P onto triangle R.

   .......................................................................................................................................

   .......................................................................................................................................
(3) Q6

(Total 5 marks)
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6. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 4H Q6:  5 Marks
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3.

 (a) Describe fully the single transformation that maps triangle P onto triangle Q.

   ....................................................................................................................................... 
(3)

 (b) Describe fully the single transformation that maps triangle P onto triangle R.

   ....................................................................................................................................... 
(2) Q3

(Total 5 marks)
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7. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2008, 3H Q3:  5 Marks
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3

 (a) Describe fully the single transformation that maps shape A onto shape B.
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(2)

 (b) On the grid, rotate shape A 90° clockwise about the origin O.
  Label the new shape C.

 (2)

(Total for Question 3 is 4 marks)

Do NOT write in this space.
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8. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 3H Q3:  4 Marks
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 (a) Describe fully the single transformation that maps triangle P onto triangle Q.
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(3)
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Label the new triangle R.

(1)

(Total for Question 4 is 4 marks)

Do NOT write in this space.
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9. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q4:  4 Marks



14.  Edexcel, 4H, May 2013, Q4 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q4:  5 Marks

14.  Edexcel, 4H, May 2013, Q4 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q4:  5 Marks

14.  Edexcel, 4H, May 2013, Q4 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q4:  5 Marks

14.  Edexcel, 4H, May 2013, Q4 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q4:  5 Marks10. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 4H Q4:  5 Marks
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 (a) Describe fully the single transformation which maps triangle P onto triangle Q.
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(3)

 (b) Reflect triangle Q in the line y = x.

  Label the new triangle R.
(2)

(Total for Question 6 is 5 marks)

7 The perimeter of a triangle is 90 cm.
 The lengths of the sides of the triangle are in the ratios 3 : 5 : 7

 Work out the length of the longest side of the triangle.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm

(Total for Question 7 is 3 marks)
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15.  Edexcel, 3H, June 2011, Q6 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q6:  5 Marks
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15.  Edexcel, 3H, June 2011, Q6 [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q6:  5 Marks
11. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q6:  5 Marks
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 (a) Describe fully the single transformation that maps triangle A onto triangle B.
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 (b) On the grid, translate triangle A by the vector 5
2−
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


(1)

(Total for Question 5 is 4 marks)

Do NOT write in this space.
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12. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4H Q5:  4 Marks
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 (a) On the grid above, reflect shape R in the line y� �íx
(2)
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 (b) Describe fully the single transformation that maps triangle P onto triangle Q.
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(3)

(Total for Question 5 is 5 marks)

13. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2015, 4H Q5:  5 Marks
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14. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q6:  5 Marks
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 (a) On the grid, translate triangle P by the vector 
2
1−







  Label the new triangle Q.
(1)

 (b)  Describe fully the single transformation that maps triangle P onto triangle S.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

 (Total for Question 7 is 4 marks)

Do NOT write in this space.

2 4 6 x–2–4 O
P

S

y

4

2

–2

–4

15. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4HR Q7:  4 Marks
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 (a) Describe fully the single transformation that maps shape P onto shape Q.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Rotate shape Q 90° clockwise about (1,0)
  Label the new shape R.

(2)

(Total for Question 8 is 4 marks)
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16. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2016, 3HR Q8:  4 Marks
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17. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q11:  5 Marks
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3. Work out 

Give your answer as a fraction in its simplest form.

..........................

4.

On the grid, enlarge triangle T with a scale factor of 3 and centre (2, 1).

5 4
6 9

Q4

(Total 3 marks)

*N22127A0420*

Q3

(Total 2 marks)

18. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2005, 3H Q4:  3 Marks
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19. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2009, 3H Q3:  3 Marks
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(b)

On the grid, enlarge triangle P with scale factor and centre (4, 2).
(2)

1
2

Turn over*N23068A01124*

Q9

(Total 4 marks)
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9. (a)

On the grid, rotate triangle P 90° anti-clockwise about the point (4, 2).
(2)
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November 2005 3H Question 9 Transformations (Rotations): 4 Marks20. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2005, 3H Q9:  4 Marks
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2 4 6 8 10 12–4–6–8–10–12

P

 (a) On the grid, enlarge shape P!"#$%!&'()*!+('$,-!.!(/0!'*/$-*!1234!567
  Label the new shape Q.

(3)

 (b) On the grid, rotate shape P!$%-,89%!:;<!'),'="#&*!(>,8$!$%*!?,#/$!1234!567
  Label the new shape R.

(2)

(Total for Question 4 is 5 marks)

5 Solve the simultaneous equations
y x− =2 6
y x+ =2 0

 Show clear algebraic working.

 x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 y = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 5 is 3 marks)

21. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2013, 3H Q4:  5 Marks


